SECTION 7.2

1. *z22Vyz 3. 2ab*\2a 5. 3xyz*VSyz 1. V-9x is not a real number. 9. ShVab: 1. —5yValy
13. abc™Vab? 15, 2x3Vaxy  17. —6Vx 18, —2V2 21 3V2b +5V3h  23. —2xyV2y

25. 6ab>\/3ab + 3ab\3ab  21. -2  29. 8bV2B®  31.3aV2a  33. 17V2 - 15V5  35. 5bVb

37. —8w\V2x + 2xVaxy 39, 2yV/2x A1, —4abV/2b  43.16  45.2V4  47. xy*Va 49, 8wyVa

51. 2x%V2  53. 2abV3a®®  55.6 57.x—V2x 59.4x-8Vx 61.x-6Vx+9 63 84+16V5

65. 672x%>  67. 4a°b*Va  69. -85 Tl x—y* 13 12x—-y  75.yV5  77.bV13b 78. ?
3 3
g1, 2V g3 3V3a  gp VI gy SVB g SV gy BVAa g5 VIS g5 540v3
3y a 2 8 3y 2a 9%
97. —w 99. —N—J';i 101. —71\/_;%921 103. V6 +3-2V2+2V3 105, —&4—5—\/—5
107. % 109. % 111a. False; V432 b. True ¢. False; Vax Vx =z

bzvx+ -4 b+18—-6Vb+9

d. False; Vx + \/; e. False; \Z/f + \3/3 f. True 113a. 142 — 20 P c 5



